THAEE fFIHBA—ER

1 BR-RY-RAE

4. @ #

th 4 S H A7 B & & ol )
SR AN ik kg 11,310 2,762,705
C = N W b BEBLYAX kg 547.5 119,011
Wz AU A ( PE ) LY A X kg 11,020 1,748,174
N K kg 508.2 74,939

b X 7 kg 735.6 379,747

Nl S e AN kg 1,119 596,146
L5 A A S W kg 519 264,561
% < & A kg 2,226 336,005
1 v 2 kg 109.5 59,136

= — ~ Nz kg 55.35 43,329
+ = ) kg 269.25 165,544

¥ ¥ ~ D% kg 2,973 441,913
5 el x kg 71.8 27,427

7 v vy oa U — LYy AR kg 44.4 37,092
~ ~ k kg 141 64,350

N BN kg 115.5 38,236
L A T L ZN 3 455
R = ke 40 32,516
»no A X x) £ 1 3,850
U 'y = 20kg ) 807 4,358,970

i 12 NZ ¥ kg 773.5 316,316
R + + kg 1,976 530,497
ARV S A kg 986.6 323,345
2 A 71 ES 3 5,291

BN i 9 5 14 11,132

= A » 'y kg 1 1,980
F > 'y kg 15 5,775
v A4 7 L — & 20 1,760
p 7 o] 3 1,155

ifi 1 17 1,870

Al 1 7 1,062

U a3 Y a— 2100 % %t 1000cc %N 37 8,503
7t (327H) 12,762,792
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2 R FI-ABRE

it £ K i H A7 o = 4 (M)
7= * - MSH AR 10fE A 367 71,230
g X (AT A4 R) 8l Jr 1,697 259,094
4 7L 1,000cc A 113 31,110
1 — 7 ) b 70~75g A 1,104 56,601
Zt (4%&) 418,035
3 AERUVEBEDE
i £ bS50 s H A7 o &= 4 (M)
PN + L 320g 43 400 214,720
5 N 7 Y ke 2,290 554,950
& rC X o) ke 5 23,650
v ¥ 7 N 20kg 4 2 11,880
noOwm O F kg 15 5,775
DV o ¥ £ 10kg 55 101 327,745
% + 7 = kg 15 5,775
% B = 3 6,842
7t (7#E) 1,151,337
4 AE-NERRULE
i £ H s H A7 B = & (M)
5 Al kg 9,840.4 7,468,863
7 X L N~ R M s 1,000 117,150
7K L N~ R L s 1,450 209,165
vy o= S s 800 29,920
vy o=y M s 800 37,840
vy o= R L T 300 18,480
TS RN(THENVET V) LL JC 845 482,620
mowm 0 &k Z P 1,200 23,320
7 7 v — S T 2,200 195,800
T L U — A 1 393 75,358
4 |2 N — kg 60.64 63,368
b Vi 7 ke 900 128,700
b 7 % < ke 2,000 231,000
7 X 7 B P 1,200 172,200
B % z 7 P 300 92,400
BqOBm P kX kg 10.3 5,098
7 A2 k¥ 3 & 10g 4% 183 134,871
o F v ¥ 7 — K lkg 4% 4 10,780
4 ’r N E kg 31.2 8,580
% £l = 66 95,300
i (19F%) 9,600,813
5 MEE
i 4 Hi S AL B = & B ([ )
— &% 5 T % N 7 8,824
o~ U U 0 ke 30 21,000
i (2FH) 29,824
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6 HIAHE

i 4 B % H A7 o = & (1)

fitd H 5 kg 14,000 1,324,400
£ ® B kg 107,630 10,181,798
hoF X F ' v — kg 38,101 4,844,536
USA &+ £ ¥ — kg 32,182 4,184,275
VA A Y A SN kg 24,113 2,742,423
~ A4 F 2 — 7 kg 22,800 3,063,060
7 7 7 > kg 2,220 2,442,000
v 7 7 NV kg 3,005 2,112,000
A2V T T AT TR kg 3,910 1,548,360
2 v v k kg 1,100 435,600
r kg 728 800,800
FJEvhr7 —FK FEY— 4.5kg 1 7 9,660
i (127%) 33,688,912

7 BERfGHEE

fh 4 S H A7 B = & (M)

O OB O~ L v b ke 24,800 3,410,000
+ v B X v v b ke 3,010 797,280
FSOF AT v a AT F R 1.25ke e 10 28,501
Ry Xar s~ B EIE R 18.1kg A 7 78,155
7~ M fd kb KS ke 500 159,500
Loyt — X & E A B 11.3kg A e 23 150,788
73 > v — HOEOE R 18.1kg A e 99 681,670
ARy oV BB R 257K RA 4% 10 61,050
F‘ v 7 7 = K 8ke 43 50 124,060
7 47“ ﬂ? A E e ok 20kg A £ 22 134,310
£ ) v b E OB OB 20kg A £ 19 124,355
Vo H A H l e fi gk 257 KA 43 1 8,415
7 Z i > =3 OB FS ke 1,000 319,000
Yyooov B R kg 160 61,600
Hooo® B R 15kg A 43 90 425,700
A4 v a2 B @E B Ok 11.3kg A 43 6 37,730
F UM f B MS kg 3,200 1,020,800
~ U A7 v K kg 60 20,460
oAk ME R L v B kg 40 9,020
7t (19FE) 7,652,394
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8 BEAfNE ANENYE

th 4 S H A7 ¥ = & (1)
* F UV v Ao I 5 18,260
Y % 7 Bic s 15 57,035
ey s 25 49,500
TITAL T —ART Ly TR 2.27ke 43 4 88,000
-~ v ¥ =2 7 + H 250ml X 24 5 1 5,713
v o2 7 T v T 480g 4% 10 165,000
N — K ¥ 7 U BIO 20 H %y s 5 5,500
B VM 2 v T R 20kg A\ 4% 1 18,700
2l (8F#) 407,708
9 Tt

th 4 S HL A7 ¥ & & (M)
Z R = Y KU v ZN 5 2,095
) 0 i o] 5 2,739
2 b ] 114 37,620
® v 7 a — 18 1 253
4] = 1 3 297
A 52 J&& T 3 297
L A5 T A i 2 264
D A S ()% i 5 1,980
gl (8##) 45,545

& & 1178 65,757,360 CHEBEL)
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v4=af

. AL L 100
~Lwhk 4000

_—

5 100

~

F2VhJo 4k 4

7357 1500

7740 S a0 AA%2—7 1000

)23 5000
'\"L'yF

Ry¥avi<

HFEGBeR) 250
B2

AR

~Lvk300

F=2UU (EeR

®HSGALR)
3000
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N HEE 1000
1)>3 1000 |

24375945

FIL ™ L 100 1& 100

525 3000

#/55GELR)
3000



S A HH A Lyg—Ru4 F7nIr—I—FvJ

HhA<X1) 25

AT LS RLwk 45 /."”/’5"5’”7 25 AFLOE

FINID—

E—<> 20
IZIEL 10

3—4)Lh40 LBR30
+01) 10 /
=TV 150
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